

## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

## ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLX 67P

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR BUMPER	DISTORTED	1,538.00	1,538.00
1	REAR BUMPER SIDE HOLDER RH	DISTORTED	105.00	105.00
1	REAR BUMPER TOW COVER	MISSING	35.00	35.00
1	REAR BUMPER REINFORCEMENT	BENT	665.00	665.00
1	REAR BUMPER REINFORCEMENT COVER	CRACKED	179.00	179.00
1	REAR BUMPER CENTRE GUIDE INNER	CRACKED	198.00	198.00
1	REAR BUMPER REFLECTOR RH	SMASHED	55.00	55.00
1	REAR BUMPER UNDERCOVER	DEFORMED	185.00	185.00
1	REAR BUMPER SIDE UNDERCOVER RH	DEFORMED	92.00	92.00
1	REAR BUMPER KICK SENSOR	NOT NECESSARY	205.00	-
2	REVERSE SENSOR @\$235.00	DAMAGED	470.00	470.00
4	REVERSE SENSOR HOLDER @\$25.00	NECESSARY	100.00	100.00
1	REVERSE SENSOR WIRE HARNESS	NOT NECESSARY	398.00	-
1	REAR END PANEL	DENTED	871.00	871.00
1	REAR END PANEL TOP GARNISH	DISTORTED	225.00	225.00
2	TAILLAMP @\$634.00	O/S SMASHED	1,268.00	634.00
1	TAILLAMP PANEL RH	DISTORTED	365.00	365.00
1	BOOTLID	DISTORTED	1,692.00	1,692.00
1	BOOTLID LOCK	JAMMED	345.00	345.00
1	BOOTLID WEATHERSTRIPE	CUT	241.00	241.00
2	BOOTLID REFLECTOR @\$380.00	O/S MISSING	760.00	380.00
1	BOOTLID INNER TRIM COVER	TORN	288.00	288.00
2	BOOTLID HINGE @\$106.00	BENT	212.00	212.00
2	BOOTLID COUNTER BALANCE SPRING @\$62.00	DAMAGED	124.00	124.00
1	BMW LOGO	NECESSARY	65.00	65.00
1	520I EMBLEM	NECESSARY	78.00	78.00
1	REAR RH FENDER	DISTORTED	1,578.00	1,578.00
1	REAR RH FENDER INNER PANEL	TO REPAIR SEE LABOUR	895.00	-
1	REAR RH FENDER AIR VENT	SMASHED	65.00	65.00
1	REAR RH FENDER INNER SHIELD	TORN	213.00	213.00

Report Ref No. CS/LIP22010834/Aqy3e2



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR RH FENDER INNER TRIM	DEFORMED	345.00	345.00
1	REAR RH FENDER INNER CONTAINER	DAMAGED	149.00	149.00
1	REAR FUSE BOX	DAMAGED	368.00	368.00
1	REAR WINDSCREEN	SHATTERED	1,442.00	1,442.00
1	REAR WINDSCREEN MOULDING	NECESSARY	193.00	193.00
1	SPEAKER PANEL	BUCKLED	748.00	748.00
1	SPEAKER PANEL TOP CARPET	TORN	385.00	385.00
1	SPEAKER PANEL GARNISH	DEFORMED	244.00	244.00
1	SPEAKER PANEL SIDE TRIM RH	NOT NECESSARY	257.00	-
1	FUEL COVER	NOT NECESSARY	55.00	-
1	FUEL COVER LOCK	NOT NECESSARY	78.00	-
1	FUEL COVER INNER GARNISH	NOT NECESSARY	102.00	-
1	REAR RH DOOR	TO REPAIR SEE LABOUR	1,663.00	-
1	REAR RH DOOR LOCK	NOT NECESSARY	309.00	-
1	REAR RH DOOR WEATHERSTRIPE	NOT NECESSARY	274.00	-
1	SPARE TYRE PANEL TOP COVER	DEFORMED	351.00	351.00
1	FRONT BUMPER	TO REPAIR SEE LABOUR	1,548.00	-
1	FRONT BUMPER SIDE HOLDER RH	NOT NECESSARY	98.00	-
1	FRONT RH FENDER	DENTED	925.00	925.00
1	HEADLAMP RH	NOT NECESSARY	2,662.00	-
2	FRONT HEADREST @\$780.00	NOT NECESSARY	1,560.00	-
2	FRONT HEADREST REPAIR KIT @\$95.00	NECESSARY	190.00	190.00
	LESS 10% DISCOUNT		-	-1,633.80
			27,456.00	14,704.20
	SPECIAL NETT ITEMS			
1	REAR BUMPER CLIPS (SN)	NECESSARY	50.00	50.00
1	REAR BUMPER UNDERCOVER CLIPS (SN)	NECESSARY	20.00	20.00
1	REAR BUMPER SIDE UNDERCOVER CLIPS (SN)	NECESSARY	10.00	10.00
1	REAR END PANEL TOP GARNISH CLIPS (SN)	NECESSARY	10.00	10.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	60.00	60.00
1	BOOTLID INNER TRIM COVER CLIPS (SN)	NECESSARY	30.00	30.00

Report Ref No. CS/LIP22010834/Aqy3e2



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR RH FENDER INNER SHIELD CLIPS (SN)	NECESSARY	20.00	20.00
1	REAR RH FENDER INNER TRIM CLIPS (SN)	NECESSARY	30.00	30.00
1	REAR WINDSCREEN SEALANT (SN)	NECESSARY	60.00	60.00
1	REAR WINDSCREEN SOLAR FILM (SN)	NOT NECESSARY	280.00	-
1	SPEAKER PANEL SIDE TRIM CLIPS (SN)	NOT NECESSARY	20.00	-
1	FRONT BUMPER CLIPS (SN)	NOT NECESSARY	50.00	-
			640.00	290.00
	<u>LABOUR</u>			
	PANEL BEATING. INCLUSIVE OF THE REPAIR OF REAR RH FENDER INNER PANEL, REAR RH DOOR AND FRONT BUMPER.		3,000.00	2,200.00
	SPRAY PAINTING.		2,400.00	1,800.00
	WIRING.		150.00	100.00
	TO APPLY TUFF COAT.		200.00	150.00
	TO REMOVE REVERSE SENSOR.		100.00	50.00
	TO REMOVE REAR CAMERA.		100.00	50.00
	TO REMOVE UPHOLSTERY.		150.00	100.00
	TO REMOVE FUSE BOX.		300.00	180.00
	TO REMOVE REAR WINDSCREEN.		180.00	120.00
	TO VACUUM GLASS SHARDS AND TO STEAM CLEAN INTERIOR.		150.00	80.00
	TO REMOVE FUEL TANK.		150.00	80.00
	TO TRANSFER BOOTLID FITTINGS.		150.00	80.00
	TO TRANSFER REAR DOOR FITTINGS.	NOT NECESSARY	150.00	-
	TO REMOVE FRONT HEADRESTS.		250.00	150.00
	TO PERFORM DIAGNOSTIC TEST.		250.00	180.00
	TOWING CHARGES (KING ROLLER).		150.00	120.00
			7,830.00	5,440.00
	GRAND TOTAL		35,926.00	20,434.20



Page No.:4 of 4

RECOMMENDED COST OF LUMP SUM REPAIRS		16,000.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS/LIP22010834/Aqy3e2

MARKET VALUE: \$42,000.00 (EST)-LTA REIMBURSEMENT VALUE: \$25,817.00=NETT VALUE: \$16,183.00



**ADRIAN LING WAI PING** 

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.